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| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
each sentence. Then mark the correct choice on your answer sheet. |

In late October, the prime minister —----—- an emergency meeting.

1) deduced 2} summoned 3) collaborated 4) associated
The contract between the two companies will - at the end of the year.

1) expire 2) obstruct 3) extinguish 4) surrender

An elderly man has - doctors at the hospital by living after he was officially
declared dead.

1) converted 2) conducted 3) corresponded 4) confounded
These reports are -——-— to the many hours of research completed by this committee.
1)) motion 2) testimony 3) submission - 4) proximity
The points the author makes are fine, but the whole essay lacks

1) route 2) profile 3) solidarity 4) coherence
The rise in the interest rate had a direct on the company’s profits.

1) domain 2) bearing 3) convergence 4) proportion

It is some researchers’ —————- that exercise is more important than diet if you want to
lose weight.

1) exhibition 2) designation 3) contention 4) undertaking
There is no on students to take so many subjects in one semester.

1) impetus 2) momentum 3) affiliation 4) compulsion
The success of the project is due to the amount of work that has gone into it.
1) tremendous 2) leading 3) celebrated 4) primary
Farmers are still a —— political force in France.

1) potent 2} plentiful 3) provisional 4) prognostic

| Directions: Read the following passage and decide which choice (1), (2), (3), or
| (4) best fits each space. Then mark the correct choice on your answer sheet. |

11-
12-

13-
14-
15-

Nature conservation means the protection of animals and plants in their natural homes. It
means the preservation of (11) ---—----- -- species that live with us on Earth, in the wild places,
and even in our gardens and homes. (12) ------- the sensible use of all the Earth’s resources. It
requires the development (13) -==----=-- a deep sense of responsibility for the long-term welfare
of this planet. (14) -——---—- — man’s prehistoric ancestors mastered the use of fire, human beings
have influenced the natural environment. In Africa the burning of forests 50,000 years ago
contributed to the creation of the great grasslands there. But man’s ability to destroy nature

(15) -—---ms --- in the last 100 years. The pace of technological advance has been startling.

1) great various 2) great variety of 3) the great variety of  4) the great various
1) It involves 2) They involve

) They are involved in 4) It 1s involved in

1) in man who 2) of man who 3) which man of 4) in man of

1) When 2) Until 3) Ever since 4) As long as

1) increased enormous 2) had increased enormously

3) has increased enormously 4) had an enormously increase
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PART C: Reading Cumpreensiun

Directions: Read the following three passages and choose the best choice (1), (2), (3), |
lor (4). Then mark it on your answer sheet.

PASSAGE 1:

The year 2001 witnessed a series of financial information frauds involving Enron
Corporation, auditing firm Arthur Andersen, the telecommunications company
WorldCom, Qwest and Sunbeam,. among other well-known cofporafions. These
problems highlighted the need to review the effectiveness of accounting standards,
auditing regulations and corporate governance principles. In some cases, mafragement
manipulated the figures shown in financial reports to indicate a better ecomomic
performance. In others, mﬂdmgndunrymmuv:smmuadmlwemgmgnf
companies and decisions to bear extraordinary and unjustified risk.

The Enron scandal deeply influenced the development of new regulations to improve
the reliability of financial reporting, and increased public awareness about the
importance of having sccounting standards that show the financial reality of
companies and the objectivity and independence of auditing firms.
huﬂhmhhﬂnﬂtﬁel&gﬂb&hﬂp{wmmmm the
Enron scandal undoubtedly is the biggest audit failure. The scandal caused the
dissolution' of Arthur Andersen, which at the time was one of the five largest
accounting firms in the world. It involved a financial scandal of Enron Corporation
and their auditors Arthur Andersen, which was revealed in late 2001. After a series of
revelations involving imegular accounting procedures conducted throughout the
1990s, Enron filed for Chapter 11 bankruptcy protection in December 2001.

Ome consequence of these events was the passage of Sarbanes-Oxley Act in 2002, as a
result of the first admissions of fraudulent behavior made by Enron. The act
significantly raises criminal penalties for securities fraud, for destroying, altering or
fabricating records in federal investigations or any scheme or attempt to defraud
shareholders. -

16- What does the passage mainly discuss?
1) Auditing Regulations 2y Accounting Scandals
3) Extraordinary Risk 4y Accounting Standards
17- According to the passage, Enron Corporation, auditing firm Arthur Andersen, the
telecommunications company WorldCom, Qwest and Sunbeam -— in 2001.
1) gave wrongful information intended to result in financial gain for them
2) involved themselves in economic activities and financial affairs
3) emphasized the need to reconsider the efficiency of accounting criteria
4} were found guilty and arrested for raising their financial gain
18- What does “auditing regulations’ in line 4 refer to?
1) records of a sequence of events in the inspection of an organization’s accounts
2) rules related to the official inspection of an organization’s accounts
3) records of a sequence of events from which a history may reconstructed
4) rules related to events from which a history may be reconstructed

19- In some cases, management --—--——--- the figures shown in financial reports to manifest a
better economic accomplishment.
1) proficiently adapts 2) skillfully operates

3) proficiently influences 4) skillfully controls
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20- Which item is NOT mentioned in the passage among the facts that accounting standards

can reveal?
1) independence of auditing corporations 2) financial reality of companies
3) over-leveraging of companies 4) objectivity of auditing firms

21- Which statement is not true about Enron scandal according to the passage?
1) It was the biggest bankruptey reorganization in American history.
2) It brought about the disintegration of Arthur Andersen.
3) It was one of the five largest accounting firms in the world.
4) It certainly is the largest audit defeat,
22- What does ‘it’ in line 16 refer to?
1) Arthur Andersen dissolution 2) Arthur Andersen
3) the largest bankruptcy 4) the scandal
23- After a series of -——-——— concerning unacceptable accounting measures taken
throughout the 1990s, Enron filed Chapter 11 bankruptcy protection in December 2001.
1) proclamations 2) disclosures 3) prophecies 4) announcements
24- Sarbanes-Oxley Act in 2002 remarkably induced criminal punishments for the following
items EXCEPT for in federal investigations or any scheme or attempt to deceive

shareholders.

1) denying frandulent behavior 2) inventing records
3) damaging documents 4) changing data
PASSAGE 2:

The general definition of an audit is an evaluation of a person, organization, system,
process, project or product. Audits are performed to ascertain the validity and
reliability of information; also to provide an assessment of a system's internal control.
The goal of an audit is to express an opinion on the person / organization / system in
question, under evaluation based on work done on a test basis. Due to practical
constraints, an audit seeks to provide only reasonsble assurance that the statements
are’ free from material error. Hence, statistical sampling is often adopted in audits. In
the case of financial audits, a set of financial statements are said to be true and fair
when they are free of material misstatements - a concept influenced by both
quantitative and qualitative factors.

Audit is a vital part of Accounting. Traditionally, audits were mainly associated with
gaining information about financial systems and the financial records of a company or
a business. However, recent auditing has begun to include other information about the
system, such as information about environmental performance. As a result, there are
In financial accounting, an audit is an independent assessment of the faimess by
which a company’s financial statements are presented by its management. It is
performed by competent, independent and objective person(s) known as auditors or
accountants, who then issue an auditor's report based on the results of the audit.
Such systems must adhere to generally accepted standards set by goveming bodies
regulating businesses; these standards simply provide assurance for third parties or
external users that such statements present a company's financial condition and results

25- What is the main idea of the above passage?
1) Providing an assessment of a system’s external management
2) Expressing opinions on the person, organization or system in question
3) Assessing the validity and reliability of financial information
4) Evaluating people, organizations, systems, processes, projects or products
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27-

28

29-

30-
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According to the passage, -—--—-—-—-, an audit seeks to provide only reasonable
assurance that the statements are free from material error.

1} as a result of pragmatic restrictions 2} on account of sensible conditions
3) because of functional qualifications 4) due to realistic reductions

Why is statistical sampling often taken on in audits?

1) To guarantee that the statements are not liable to relevant mistakes.

2) To confirm the evaluation of a system’s internal control.

3) To provide only reasonable assurances about material errors.

4) To question the validity and reliability of information.

Which statement is NOT normally coupled with traditional auditing?

1) environmental performance of corporation 2) financial systems of a company

3) monetary accomplishment of a firm 4) fiscal records of a business
What does ‘it’ in line 16 refer to?
1) faimess 2) a company 3) accounting 4) an audit

As the author concludes, the systems must ———
by governing bodies regulating businesses?

generally accepted standards

1) obey — rejected 2) disregard — regulate
3) violate — denied 4) follow — prescribed
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